# ON LITTLEWOOD-PALEY FUNCTIONS ASSOCIATED WITH THE DUNKL OPERATOR 

JIANQUAN LIAO, XIAOLIANG ZHANG and ZHONGKAI LI ${ }^{\boxtimes}$

(Received 17 November 2016; accepted 18 January 2017; first published online 29 March 2017)


#### Abstract

A Littlewood-Paley operator associated with the reflection part of the Dunkl operator is introduced and proved to be of type ( $p, p$ ) for $1<p<\infty$, based on boundedness of a generalised vector-valued singular integral. This fills a gap for $2<p<\infty$ concerning the boundedness of a $g$-function in the Dunkl setting. The paper also supplies new proofs for $1<p<\infty$ on the ( $p, p$ ) boundedness of various $g$-functions associated with the Dunkl operator.


2010 Mathematics subject classification: primary 42B25; secondary 42C10.
Keywords and phrases: Littlewood-Paley function, Dunkl operator, $\lambda$-Poisson integral, $\lambda$-Hilbert transform, Dunkl transform.

## 1. Introduction

The harmonic analysis of the one-dimensional Dunkl operator and Dunkl transform was developed in [3, 4]. The Littlewood-Paley $g$-functions in the Dunkl setting on the line were studied in an earlier paper [6], where their boundedness in norm was proved in several cases. The Dunkl operator and Dunkl transform considered here are the rank-one case of the general Dunkl theory, which is associated with a finite reflection group acting on a Euclidean space. The Dunkl theory provides a useful framework for the study of multivariable analytic structures and has gained considerable interest in various fields of mathematics and in physical applications (see, for example, [2]). For the classical theory of the Littlewood-Paley $g$-functions, see [7-9, 11].

Assume that $\lambda$ is a fixed nonnegative number. As in [3], for $1<p<\infty$, we denote by $L_{\lambda}^{p}(\mathbb{R})$ the space of measurable functions $f$ on $\mathbb{R}$ satisfying

$$
\|f\|_{L_{\lambda}^{p}}^{p}:=c_{\lambda} \int_{\mathbb{R}}|f(x)|^{p}|x|^{2 \lambda} d x<\infty \quad \text { with } c_{\lambda}^{-1}=2^{\lambda+1 / 2} \Gamma(\lambda+1 / 2) .
$$

[^0]The Dunkl operator on the line $\mathbb{R}$ involves a reflection and is defined by

$$
(D f)(x)=f^{\prime}(x)+\frac{\lambda}{x}(f(x)-f(-x)),
$$

and the Dunkl transform of a function $f \in L_{\lambda}^{1}(\mathbb{R})$ is defined by

$$
\left(\mathscr{F}_{\lambda} f\right)(\xi):=c_{\lambda} \int_{\mathbb{R}} f(x) E_{\lambda}(-i x \xi)|x|^{2 \lambda} d x \quad \text { for } \xi \in \mathbb{R}
$$

where $E_{\lambda}$ is the Dunkl kernel

$$
E_{\lambda}(z)=j_{\lambda-1 / 2}(i z)+\frac{z}{2 \lambda+1} j_{\lambda+1 / 2}(i z) \quad \text { for } z \in \mathbb{C}
$$

and $j_{\alpha}(z)$ is the normalised Bessel function

$$
j_{\alpha}(z)=2^{\alpha} \Gamma(\alpha+1) \frac{J_{\alpha}(z)}{z^{\alpha}}=\sum_{n=0}^{\infty} \frac{(-1)^{n} \Gamma(\alpha+1)}{n!\Gamma(n+\alpha+1)}\left(\frac{z}{2}\right)^{2 n}
$$

The Dunkl transform $\mathscr{F}_{\lambda}$ was studied in [5] from the viewpoint of the signed hypergroup.

The operator $\Delta_{\lambda}=D_{x}^{2}+\partial_{y}^{2}$ is called the $\lambda$-Laplacian. It can be written explicitly, for a given $C^{2}$ function $u$ on the half-plane $\mathbb{R}_{+}^{2}=\{(x, y): x \in \mathbb{R}, y \in(0, \infty)\}$, as

$$
\left(\Delta_{\lambda} u\right)(x, y)=\frac{\partial^{2} u}{\partial x^{2}}+\frac{\partial^{2} u}{\partial y^{2}}+\frac{2 \lambda}{x} \frac{\partial u}{\partial x}-\frac{\lambda}{x^{2}}(u(x, y)-u(-x, y))
$$

If $\Delta_{\lambda} u \equiv 0$, then $u$ is said to be $\lambda$-harmonic on $\mathbb{R}_{+}^{2}$.
For $f \in L_{\lambda}^{p}(\mathbb{R}), 1 \leq p<\infty$, the associated Poisson integral, which is called the $\lambda$ Poisson integral in [3], is defined by

$$
\begin{equation*}
u_{f}(x, y)=(P f)(x, y)=c_{\lambda} \int_{\mathbb{R}} f(t) P(x,-t, y)|t|^{2 \lambda} d t \quad \text { for }(x, y) \in \mathbb{R}_{+}^{2} \tag{1.1}
\end{equation*}
$$

where $P(x, t, y)$ is the $\lambda$-Poisson kernel given by (cf. [3])

$$
\begin{equation*}
P(x, t, y)=\frac{\lambda}{\pi c_{\lambda}} \int_{-1}^{1} \frac{y(1+s)\left(1-s^{2}\right)^{\lambda-1}}{\left(y^{2}+x^{2}+t^{2}+2 x t s\right)^{\lambda+1}} d s \tag{1.2}
\end{equation*}
$$

The $\lambda$-Poisson integral $u_{f}(x, y)$ of $f \in L_{\lambda}^{p}(\mathbb{R})$ for $1 \leq p<\infty$ is $\lambda$-harmonic on $\mathbb{R}_{+}^{2}$.
For $f \in L_{\lambda}^{p}(\mathbb{R}), 1 \leq p<\infty$, there are several possible $g$-functions of the LittlewoodPaley type, such as

$$
g_{1}(f)(x)=\left(\int_{0}^{\infty}\left|\frac{\partial u_{f}}{\partial y}(x, y)\right|^{2} y d y\right)^{1 / 2}, \quad g_{x}(f)(x)=\left(\int_{0}^{\infty}\left|\frac{\partial u_{f}}{\partial x}(x, y)\right|^{2} y d y\right)^{1 / 2}
$$

and

$$
g_{\nabla}(f)(x)=\left(\int_{0}^{\infty}\left|\nabla u_{f}(x, y)\right|^{2} y d y\right)^{1 / 2}
$$

where $\nabla=\left(\partial_{x}, \partial_{y}\right)$ is the gradient vector. In the Dunkl setting, the more apt substitutions for $g_{x}$ and $g_{\nabla}$ are

$$
g_{D}(f)(x)=\left(\int_{0}^{\infty}\left|D_{x} u_{f}(x, y)\right|^{2} y d y\right)^{1 / 2} \quad \text { and } \quad g_{\nabla_{\lambda}}(f)(x)=\left(\int_{0}^{\infty}\left|\nabla_{\lambda} u_{f}(x, y)\right|^{2} y d y\right)^{1 / 2}
$$

where $\nabla_{\lambda}=\left(D_{x}, \partial_{y}\right)$ is the $\lambda$-gradient vector. Based upon a vector version of the multiplier theorem for the Dunkl transform, the boundedness of the operators $g_{1}, g_{D}$ and $g_{\nabla_{\lambda}}$ in $L_{\lambda}^{p}(\mathbb{R})$ was proved in [6] for $1<p<\infty$, but that of the operator $g_{\nabla}$ in $L_{\lambda}^{p}(\mathbb{R})$ was only proved for $1<p \leq 2$. One of the contributions of the present paper is to fill in the gap for the operator $g_{\nabla}$, that is, to show that $\left\|g_{\nabla}(f)\right\|_{L_{\lambda}^{p}} \lesssim\|f\|_{L_{\lambda}^{p}}$ for $1<p<\infty$.

For this purpose, we need to consider an operator associated to the reflection part of the Dunkl operator $D$, that is,

$$
g_{0}(f)(x)=\left(\int_{0}^{\infty}\left|\frac{u(x, y)-u(-x, y)}{x}\right|^{2} y d y\right)^{1 / 2}
$$

We shall also consider the operator

$$
g_{\Delta_{\lambda}}(f)(x)=\left(\int_{0}^{\infty} y \Delta_{\lambda} u^{2}(x, y) d y\right)^{1 / 2}
$$

It is not difficult to see that there are close relationships between these $g$-functions $g_{1}(f), g_{x}(f), g_{\nabla}(f), g_{D}(f), g_{\nabla_{\lambda}(f)}, g_{0}(f)$ and $g_{\Delta_{\lambda}}(f)$; moreover $g_{1}(f), g_{D}(f)$ and $g_{\nabla_{\lambda}}(f)$ are also closely related to the generalised Hilbert transform in the Dunkl setting. These relationships will be stated in Section 2. The boundedness of the operator $g_{0}$ in $L_{\lambda}^{p}(\mathbb{R})$ for $1<p<\infty$ will be proved in Section 3, based on a lemma about vectorvalued singular integrals. The boundedness of $g_{0}$ together with that of $g_{\nabla_{\lambda}}$ implies the boundedness of $g_{\nabla}$ in $L_{\lambda}^{p}(\mathbb{R})$ for all $1<p<\infty$. In Section 4, we give a new proof for all $1<p<\infty$ of the $(p, p)$ boundedness of various $g$-functions associated with the one-dimensional Dunkl operator, without using the vector version of the multiplier theorem for the Dunkl transform. Our proof seems to be more fundamental.

Throughout the paper, $A$ denotes a positive number independent of variables and functions, which may be different on different occurrences. Also, $U \lesssim V$ means that $U \leq c V$ for some positive constant $c$ independent of variables and functions.

## 2. Several lemmas

Lemma 2.1. Assume that $1 \leq p<\infty$ and $f \in L_{\lambda}^{p}(\mathbb{R})$. Then:
(i) $\quad g_{D}(f) \leq g_{x}(f)+\lambda g_{0}(f), \quad g_{x}(f) \leq g_{D}(f)+\lambda g_{0}(f)$;
(ii) $g_{\nabla}(f)^{2}=g_{1}(f)^{2}+g_{x}(f)^{2}, \quad g_{\nabla_{\lambda}}(f)^{2}=g_{1}(f)^{2}+g_{D}(f)^{2}$;
(iii) $g_{\nabla_{\lambda}}(f) \leq g_{\nabla}(f)+\lambda g_{0}(f), \quad g_{\nabla}(f) \leq g_{\nabla_{\lambda}}(f)+\lambda g_{0}(f)$; and
(iv) $g_{\Delta_{\lambda}}(f)^{2}=2 g_{\nabla}(f)^{2}+\lambda g_{0}(f)^{2}$.

Proof. Parts (i) and (ii) follow from the definitions. Since

$$
\begin{equation*}
\left|\nabla_{\lambda} u(x, y)\right|^{2}=|\nabla u(x, y)|^{2}+2 \lambda \frac{\partial u(x, y)}{\partial x} \frac{u(x, y)-u(-x, y)}{x}+\lambda^{2}\left(\frac{u(x, y)-u(-x, y)}{x}\right)^{2}, \tag{2.1}
\end{equation*}
$$

integrating over $(0, \infty)$ with respect to $y d y$ yields the first inequality in part (iii) and the second one follows similarly. Finally, part (iv) is a consequence of the identity

$$
\begin{equation*}
\Delta_{\lambda} u^{2}(x, y)=2|\nabla u(x, y)|^{2}+\lambda\left(\frac{u(x, y)-u(-x, y)}{x}\right)^{2} . \tag{2.2}
\end{equation*}
$$

Lemma 2.1 shows that $g_{\Delta_{\lambda}}(f)$ is essentially the largest of these $g$-functions. To state further relationships between them, we need the $\lambda$-Hilbert transform $\mathscr{H}_{\lambda}$, an analogue of the classical Hilbert transform. From [3], the $\lambda$-Hilbert transform $\mathscr{H}_{\lambda} f$ of a function $f$ is defined as the limit of $v_{f}(x, y)=(Q f)(x, y)$ as $y \rightarrow 0+$, the conjugate $\lambda$-Poisson integral of $f$, which, together with the $\lambda$-Poisson integral $u_{f}(x, y)=(P f)(x, y)$, satisfies the generalised Cauchy-Riemann equations

$$
\begin{equation*}
D_{x} u_{f}-\partial_{y} v_{f}=0, \quad \partial_{y} u_{f}+D_{x} v_{f}=0 . \tag{2.3}
\end{equation*}
$$

The conjugate $\lambda$-Poisson integral $v_{f}(x, y)$ is given explicitly by (cf. [3, (46) and (47)])

$$
v_{f}(x, y)=(Q f)(x, y)=c_{\lambda} \int_{\mathbb{R}} f(t) Q(x,-t, y)|t|^{2 \lambda} d t \quad \text { for }(x, y) \in \mathbb{R}_{+}^{2},
$$

where $Q(x,-t, y)$ is the conjugate $\lambda$-Poisson kernel

$$
Q(x,-t, y)=\frac{\lambda \Gamma(\lambda+1 / 2)}{2^{-\lambda-1 / 2} \pi} \int_{-1}^{1} \frac{(x-t)(1+s)\left(1-s^{2}\right)^{\lambda-1}}{\left(y^{2}+x^{2}+t^{2}-2 x t s\right)^{\lambda+1}} d s \quad \text { for } x, t \in \mathbb{R}, y \in(0, \infty)
$$

The following proposition contains part of [3, Theorem 5.6 and Corollary 6.2].
Proposition 2.2. For $f \in L_{\lambda}^{p}(\mathbb{R}), 1 \leq p<\infty$, the $\lambda$-Hilbert transform $\mathscr{H}_{\lambda} f$ exists almost everywhere, and the mapping $f \mapsto \mathscr{H}_{\lambda} f$ is $(p, p)$ bounded for $1<p<\infty$ and weakly$(1,1)$ bounded. Furthermore, if $1<p<\infty$,

$$
\begin{equation*}
(Q f)(x, y)=\left[P\left(\mathscr{H}_{\lambda} f\right)\right](x, y) \quad \text { for } f \in L_{\lambda}^{p}(\mathbb{R}) . \tag{2.4}
\end{equation*}
$$

For $f \in L_{\lambda}^{p}(\mathbb{R}), 1<p<\infty$, from (2.4), we have $v_{f}(x, y)=u_{\mathscr{H}_{\lambda} f}(x, y)$. By (2.3), $D_{x} u_{\mathscr{H}_{l} f}-\partial_{y} v_{\mathscr{H}_{1} f}=0$ and $\partial_{y} u_{\mathscr{H}_{l} f}+D_{x} v_{\mathscr{H}_{1} f}=0$, which, in conjunction with (2.3), implies that $D_{x} v_{\mathscr{H}_{A} f}=-D_{x} u_{f}$ and $\partial_{y} v_{\mathscr{H}_{A} f}=-\partial_{y} u_{f}$. In view of the continuity and integrability, the last two equations lead to $v_{\mathscr{H}_{1} f}(x, y)=-u_{f}(x, y)$ and, again by (2.4), $u_{\mathscr{H}_{\lambda}^{2} f}(x, y)=-u_{f}(x, y)$. Therefore $\mathscr{H}_{\lambda}^{2} f=-f$, and then, for $1<p<\infty$, by Proposition 2.2, there exists a constant $A_{p}>0$ so that

$$
A_{p}^{-1}\|f\|_{L_{\lambda}^{p}} \leq\left\|\mathscr{H}_{\lambda} f\right\|_{L_{\lambda}^{p}} \leq A_{p}\|f\|_{L_{\lambda}^{p}} \quad \text { for } f \in L_{\lambda}^{p}(\mathbb{R}) .
$$

Lemma 2.3. Assume that $1<p<\infty$ and $f \in L_{\lambda}^{p}(\mathbb{R})$. Then:
(i) $\quad g_{D}(f)=g_{1}\left(\mathscr{H}_{\lambda} f\right), g_{1}(f)=g_{D}\left(\mathscr{H}_{\lambda} f\right)$; and
(ii) $g_{\nabla_{\lambda}}(f)^{2}=g_{1}(f)^{2}+g_{1}\left(\mathscr{H}_{\lambda} f\right)^{2}=g_{D}(f)^{2}+g_{D}\left(\mathscr{H}_{\lambda} f\right)^{2}$.

Proof. From (2.4), $v_{f}(x, y)=u_{\mathscr{H}_{h} f}(x, y)$. Consequently, from (2.3), $D_{x} u_{f}=\partial_{y} u_{\mathscr{H}_{\lambda} f}$ and $\partial_{y} u_{f}=-D_{x} u_{\mathscr{H}_{1} f}$. The lemma follows.

From Lemma 2.3, the operators $g_{\nabla_{\lambda}}, g_{D}$ and $g_{1}$ have equivalent norm estimates.
Lemma 2.4. If $F(x, y) \in C^{2}\left(\mathbb{R}_{+}^{2}\right) \cap C\left(\overline{\mathbb{R}_{+}^{2}}\right), F(x, 0) \in L_{\lambda}^{1}(\mathbb{R})$ and

$$
F(x, y)=o\left((|x|+y)^{-2 \lambda-1}\right), \quad|\nabla F(x, y)|=o\left((|x|+y)^{-2 \lambda-2}\right) \quad \text { as }|x|+y \rightarrow \infty
$$

then

$$
\begin{equation*}
\iint_{\mathbb{R}_{+}^{2}} y \Delta_{\lambda} F(x, y)|x|^{2 \lambda} d x d y=\int_{\mathbb{R}} F(x, 0)|x|^{2 \lambda} d x \tag{2.5}
\end{equation*}
$$

Proof. Let $\Omega$ be the half-disc $\left\{(x, y): x^{2}+y^{2}<N, y>0\right\}$ for $N>0$. If $u, v \in C^{2}(\bar{\Omega})$, then, from [3, (38)],

$$
\iint_{\Omega}\left(v \Delta_{\lambda} u-u \Delta_{\lambda} v\right)|x|^{2 \lambda} d x d y=\int_{\partial \Omega}|x|^{2 \lambda}\left(v \frac{\partial u}{\partial \mathbf{n}}-u \frac{\partial v}{\partial \mathbf{n}}\right) d s
$$

where $\partial / \partial \mathbf{n}$ denotes the directional derivative of the outward normal. We take $u=F(x, y)$ and $v=y$, so that

$$
\begin{aligned}
& \iint_{\Omega} y \Delta_{\lambda} F(x, y)|x|^{2 \lambda} d x d y=\int_{-N}^{N} F(x, 0)|x|^{2 \lambda} d x \\
& \quad+N^{2 \lambda+1} \int_{0}^{\pi}\left[N \frac{\partial F}{\partial r}(N \cos \theta, N \sin \theta)-F(N \cos \theta, N \sin \theta)\right]|\cos \theta|^{2 \lambda} \sin \theta d \theta
\end{aligned}
$$

Letting $N \rightarrow \infty$ and using the assumptions, yields (2.5).
Lemma 2.5. If $f \in \mathscr{D}(\mathbb{R})$, the space of $C^{\infty}$ functions on $\mathbb{R}$ with compact support, then

$$
u_{f}(x, y)=O\left((|x|+y)^{-2 \lambda-1}\right), \quad\left|\nabla u_{f}(x, y)\right|=O\left((|x|+y)^{-2 \lambda-2}\right) \quad \text { as }|x|+y \rightarrow \infty .
$$

Proof. The two estimates are essentially contained in [6, Proposition 4]. Indeed, if we assume that supp $f \subset[-A, A]$ for some $A>0$, then, for $|x|>2 A,|t| \leq A$, from (1.2),

$$
\begin{gathered}
P(x, t, y)=O\left((|x|+y)^{-2 \lambda-1}\right) \\
\left|\frac{\partial}{\partial x} P(x, t, y)\right|+\left|\frac{\partial}{\partial y} P(x, t, y)\right|=O\left((|x|+y)^{-2 \lambda-2}\right)
\end{gathered}
$$

Thus the desired estimates follow.
Lemma 2.6. If $\phi \in C^{1}(\mathbb{R})$ and $\phi(x)=o\left(|x|^{-2 \lambda}\right)$ as $x \rightarrow \infty$, then $\int_{\mathbb{R}}(D \phi)(x)|x|^{2 \lambda} d x=0$.
Proof. If $\lambda=0$, the result is trivial. If $\lambda>0$, we write $\phi=\phi_{e}+\phi_{o}$, where

$$
\phi_{e}(x)=(\phi(x)+\phi(-x)) / 2, \quad \phi_{o}(x)=(\phi(x)-\phi(-x)) / 2 .
$$

It is obvious that $\int_{\mathbb{R}}\left(D \phi_{e}\right)(x)|x|^{2 \lambda} d x=\int_{\mathbb{R}} \phi_{e}^{\prime}(x)|x|^{2 \lambda} d x=0$. Moreover,

$$
\int_{\mathbb{R}}\left(D \phi_{o}\right)(x)|x|^{2 \lambda} d x=2 \int_{0}^{\infty}\left(\phi_{o}^{\prime}(x)+\frac{2 \lambda}{x} \phi_{o}(x)\right) x^{2 \lambda} d x=2 \int_{0}^{\infty}\left(x^{2 \lambda} \phi_{o}(x)\right)^{\prime} d x=0
$$

The lemma is proved.

## 3. Boundedness of the operator $\boldsymbol{g}_{0}$

Theorem 3.1. Assume that $\lambda>0$. The operator $g_{0}$ is bounded on $L_{\lambda}^{p}(\mathbb{R})$ for $1<p<\infty$.
We need a lemma on boundedness of a variant of vector-valued singular integrals. The difference from the usual case is that the singularity of the kernel $K(x, t)$ occurs on both diagonals $x= \pm t$. We begin with the scalar-valued form, which follows from [1, Theorem 3.1].

Lemma 3.2. Suppose that $T$ is a bounded linear operator on $L_{\lambda}^{2}(\mathbb{R})$ and there is a measurable function $K$ on $\mathbb{R}^{2}$ so that, for $f \in L_{\lambda}^{2}(\mathbb{R})$ with compact support, $(T f)(x)$ is given by the expression

$$
\begin{equation*}
(T f)(x)=c_{\lambda} \int_{\mathbb{R}} K(x, t) f(t)|t|^{2 \lambda} d t \tag{3.1}
\end{equation*}
$$

if both $x,-x \notin \operatorname{supp} f$ and both integrals $\int_{\mathbb{R}} K(x, t) f(t)|t|^{2 \lambda} d t$ and $\int_{\mathbb{R}} K(t, x) f(t)|t|^{2 \lambda} d t$ converge absolutely for almost all $x$ in the range. If there are constants $c>1$ and $A>0$ so that the kernel K satisfies

$$
\begin{equation*}
\int_{||x|-|t||>c\left|t-t^{\prime}\right|}\left(\left|K(x, t)-K\left(x, t^{\prime}\right)\right|+\left|K(t, x)-K\left(t^{\prime}, x\right)\right|\right)|x|^{2 \lambda} d x \leq A \tag{3.2}
\end{equation*}
$$

for all $t, t^{\prime} \in \mathbb{R}$ with $t \neq t^{\prime}$, then $T$ extends to a bounded operator from $L_{\lambda}^{p}(\mathbb{R})$ into itself for $1<p<\infty$.

Although, from the perspective of domains of integration, the assumption in (3.2) is weaker then that in the usual case, the proof of the lemma proceeds by the same pattern as in [10, pages 20-22]. Indeed, by interpolation and duality, it suffices to show that the mapping $f \mapsto T f$ is of weak-type $(1,1)$. Taking the Calderón-Zygmund decomposition for $f \in L_{\lambda}^{1}(\mathbb{R})$ at a given height as $f=g+b$, where $b=\sum_{k} b_{k}$ with $\operatorname{supp} b_{k} \subset I_{k}$, the only modification of [10, pages 20-22] is, in evaluating (Tb)(x), to integrate each $\left|\left(T b_{k}\right)(x)\right|$ over $\left(c I_{k}\right)^{c} \cap\left(-c I_{k}\right)^{c}$ instead of $\left(c I_{k}\right)^{c}$; and then, invoking the cancellation of $b_{k}$, the condition (3.2) is applicable.

We shall apply the vector-valued analogue of the operator $T$ described in Lemma 3.2, for which, under similar assumptions and with the symbols $|\cdot|$ denoting the norms in related Banach spaces, the proof goes through without difficulty. The details of such a transplantation for convolution-type operators are given in [9, pages 45-48].

Lemma 3.3. Let $\mathcal{H}_{1}$ and $\mathcal{H}_{2}$ be two separable Hilbert spaces. Suppose that $T$ is a bounded linear operator from $L_{\lambda}^{2}\left(\mathbb{R}, \mathcal{H}_{1}\right)$ into $L_{\lambda}^{2}\left(\mathbb{R}, \mathcal{H}_{2}\right)$ and there is a measurable function $K$ from $\mathbb{R}^{2}$ to $B\left(\mathcal{H}_{1}, \mathcal{H}_{2}\right)$ (the space of bounded linear operators from $\mathcal{H}_{1}$ to $\mathcal{H}_{2}$ ) so that, for $f \in L_{\lambda}^{2}\left(\mathbb{R}, \mathcal{H}_{1}\right)$ with compact support, $(T f)(x)$ has the expression (3.1) if both $x,-x \notin \operatorname{supp} f$ and both the integrals $\int_{\mathbb{R}} K(x, t) f(t)|t|^{2 \lambda} d t$ and $\int_{\mathbb{R}} K(t, x) f(t)|t|^{2 \lambda} d t$ converge in the norm of $\mathcal{H}_{2}$ for almost all $x$ in the range. If there are constants $c>1$ and $A>0$ so that the kernel $K$ satisfies the condition (3.2) for
all $t, t^{\prime} \in \mathbb{R}$ with $t \neq t^{\prime}$, then $T$ extends to a bounded operator from $L_{\lambda}^{p}\left(\mathbb{R}, \mathcal{H}_{1}\right)$ into $L_{\lambda}^{p}\left(\mathbb{R}, \mathcal{H}_{2}\right)$ for $1<p<\infty$.

Proof of Theorem 3.1. We first show that $g_{0}$ is of type (2,2). Indeed, for $f \in \mathscr{D}(\mathbb{R})$, by Lemma 2.5,

$$
\begin{gathered}
u_{f}^{2}(x, y)=O\left((|x|+y)^{-4 \lambda-2}\right) \\
\left|\nabla u_{f}^{2}(x, y)\right|=2\left|u_{f}(x, y)\right|\left|\nabla u_{f}(x, y)\right|=O\left((|x|+y)^{-4 \lambda-3}\right),
\end{gathered}
$$

as $|x|+y \rightarrow \infty$; and then, by Lemma 2.4, $\left\|g_{\Delta_{\lambda}}(f)\right\|_{L_{\lambda}^{2}}=\|f\|_{L_{\lambda}^{2}}$. But from Lemma 2.1(iv), $g_{0}(f)(x) \leq \lambda^{-1 / 2} g_{\Delta_{\lambda}}(f)(x)$, so that $\left\|g_{0}(f)\right\|_{L_{\lambda}^{2}} \leq \lambda^{-1 / 2}\|f\|_{L_{\lambda}^{2}}$.

We now define $\mathcal{H}_{1}$ to be the space of complex numbers and $\mathcal{H}_{2}$ to be the $L^{2}$-space

$$
\mathcal{H}_{2}=\left\{\phi:|\phi|_{\mathcal{H}_{2}}:=\left(\int_{0}^{\infty}|\phi(y)|^{2} y d y\right)^{1 / 2}<\infty\right\} .
$$

Thus $B\left(\mathcal{H}_{1}, \mathcal{H}_{2}\right)$ is isomorphic to $\mathcal{H}_{2}$. The associated operator $T$ is given by

$$
(T f)(x)=\frac{u(x, y)-u(-x, y)}{x} .
$$

We shall rewrite $T f$ in terms of a kernel function $K$. In fact, from (1.1),

$$
(T f)(x)=c_{\lambda} \int_{\mathbb{R}} f(t) K_{y}(x, t)|t|^{2 \lambda} d t
$$

where

$$
K_{y}(x, t)=\frac{1}{x}[P(x,-t, y)-P(-x,-t, y)] .
$$

It follows from (1.2) that

$$
K_{y}(x, t)=\frac{1}{x} \frac{2 \lambda}{\pi c_{\lambda}} \int_{-1}^{1} \frac{y s\left(1-s^{2}\right)^{\lambda-1}}{\left(y^{2}+x^{2}+t^{2}-2 x t s\right)^{\lambda+1}} d s
$$

and then integrating by parts gives

$$
\begin{equation*}
K_{y}(x, t)=\frac{2(\lambda+1)}{\pi c_{\lambda}} \int_{-1}^{1} \frac{y t\left(1-s^{2}\right)^{\lambda}}{\left(y^{2}+x^{2}+t^{2}-2 x t s\right)^{\lambda+2}} d s \tag{3.3}
\end{equation*}
$$

In order to apply Lemma 3.3, we need to verify that $K_{y}(x, t)$ satisfies the required estimates. These are contained in the following lemma.

Lemma 3.4. There is a constant $A>0$ such that, for all $t, t^{\prime} \in \mathbb{R}$ with $t \neq t^{\prime}$,

$$
\begin{align*}
& \int_{||x|-|t||>5\left|t-t^{\prime}\right|}\left|K_{y}(x, t)-K_{y}\left(x, t^{\prime}\right)\right|_{\mathcal{H}_{2}}|x|^{2 \lambda} d x \leq A,  \tag{3.4}\\
& \int_{||x|-|t||>5\left|t-t^{\prime}\right|}\left|K_{y}(t, x)-K_{y}\left(t^{\prime}, x\right)\right|_{\mathcal{H}_{2}}|x|^{2 \lambda} d x \leq A . \tag{3.5}
\end{align*}
$$

Proof. We put $\Lambda_{y}(x, t, s)=y^{2}+x^{2}+t^{2}-2 x t s$. We claim that, for $\| x|-|t||>5\left|t-t^{\prime}\right|$, $s \in(-1,1)$,

$$
\begin{equation*}
\frac{1}{2} \Lambda_{y}(x, t, s) \leq \Lambda_{y}\left(x, t^{\prime}, s\right) \leq 2 \Lambda_{y}(x, t, s) \tag{3.6}
\end{equation*}
$$

Indeed, since

$$
\left|\Lambda_{y}(x, t, s)-\Lambda_{y}\left(x, t^{\prime}, s\right)\right| \leq\left|t-t^{\prime}\right|\left(\left|t-t^{\prime}\right|+2|t-x s|\right)
$$

$\left|t-t^{\prime}\right|<5^{-1} \Lambda_{y}(x, t, s)^{1 / 2}$ and $|t-x s| \leq \Lambda_{y}(x, t, s)^{1 / 2}$, it follows that

$$
\left|\Lambda_{y}(x, t, s)-\Lambda_{y}\left(x, t^{\prime}, s\right)\right| \leq \frac{1}{2} \Lambda_{y}(x, t, s)
$$

so that (3.6) is concluded. Direct calculation shows that

$$
\begin{equation*}
\left|\frac{\partial}{\partial t}\left[t \Lambda_{y}(x, t, s)^{-\lambda-2}\right]\right| \lesssim \frac{y+|x|+|t|}{\Lambda_{y}(x, t, s)^{\lambda+5 / 2}} \tag{3.7}
\end{equation*}
$$

and then, from (3.3), applying the mean value theorem in $t$ and using (3.6) and (3.7),

$$
\left|K_{y}(x, t)-K_{y}\left(x, t^{\prime}\right)\right| \lesssim \int_{0}^{1} \frac{y\left|t-t^{\prime}\right|(y+|x|+|t|)}{\left[y^{2}+(|x|-|t|)^{2}+2|x t|(1-s)\right]^{\lambda+5 / 2}}(1-s)^{\lambda} d s
$$

Now making the substitution $\rho=2|x t|(1-s) /\left[y^{2}+(|x|-|t|)^{2}\right]$,

$$
\left|K_{y}(x, t)-K_{y}\left(x, t^{\prime}\right)\right| \lesssim \frac{y\left|t-t^{\prime}\right|(y+|x|+|t|)}{|x t|^{\lambda+1}\left[y^{2}+(|x|-|t|)^{2}\right]^{3 / 2}} \int_{0}^{M} \frac{\rho^{\lambda}}{(1+\rho)^{\lambda+5 / 2}} d \rho
$$

where $M=2|x t| /\left[y^{2}+(|x|-|t|)^{2}\right]$. Since $\int_{0}^{M} \rho^{\lambda}(1+\rho)^{-\lambda-5 / 2} d \rho \asymp[M /(M+1)]^{\lambda+1}$, it follows that

$$
\left|K_{y}(x, t)-K_{y}\left(x, t^{\prime}\right)\right| \lesssim \frac{(|x|+|t|)^{-2 \lambda}}{\left[y^{2}+(|x|-|t|)^{2}\right]^{3 / 2}}\left|t-t^{\prime}\right| .
$$

Thus

$$
\begin{aligned}
\left|K_{y}(x, t)-K_{y}\left(x, t^{\prime}\right)\right|_{\mathcal{H}_{2}} & \lesssim \frac{\left|t-t^{\prime}\right|}{(|x|+|t|)^{2 \lambda}}\left(\int_{0}^{\infty} \frac{y d y}{\left[y^{2}+(|x|-|t|)^{2}\right]^{3}}\right)^{1 / 2} \\
& \lesssim \frac{\left|t-t^{\prime}\right|}{(|x|+|t|)^{2 \lambda}}(|x|-|t|)^{-2},
\end{aligned}
$$

and so (3.4) is concluded.
We prove (3.5) similarly, since $(\partial / \partial x)\left[t \Lambda_{y}(x, t, s)^{-\lambda-2}\right]$ satisfies the same estimate as in (3.7).

We return to the proof of Theorem 3.1. By Lemma 3.4, the operator $T$ satisfies the conditions in Lemma 3.3 so that $T$ extends to a bounded operator from $L_{\lambda}^{p}\left(\mathbb{R}, \mathcal{H}_{1}\right)$ into $L_{\lambda}^{p}\left(\mathbb{R}, \mathcal{H}_{2}\right)$ for $1<p<\infty$, which is equivalent to the boundedness of $g_{0}$ in $L_{\lambda}^{p}(\mathbb{R})$. The proof of Theorem 3.1 is complete.

## 4. Boundedness of the $\boldsymbol{g}$-functions

Theorem 4.1. For $1<p<\infty$, the $g$-functions $g_{1}, g_{x}, g_{D}, g_{\nabla}, g_{\nabla_{\lambda}}$ and $g_{\Delta_{\lambda}}$ are all bounded operators on $L_{\lambda}^{p}(\mathbb{R})$.

By Lemma 2.1 and Theorem 3.1, the proof of the theorem is reduced to proving the following two claims.
(i) $g_{\nabla}$ is bounded on $L_{\lambda}^{p}(\mathbb{R})$ for $1<p \leq 2$.
(ii) $g_{\nabla_{\lambda}}$ is bounded on $L_{\lambda}^{p}(\mathbb{R})$ for $2 \leq p<\infty$.
4.1. Boundedness of $\boldsymbol{g}_{\nabla}$ on $L_{\lambda}^{p}(\mathbb{R})$ for $\mathbf{1}<\boldsymbol{p} \leq 2$. Suppose, first, that $f \in \mathscr{D}(\mathbb{R})$ and is nonnegative. The positivity of the $\lambda$-Poisson integral $u_{f}(x, y)$ follows immediately from (1.1) and (1.2) . A direct calculation shows that

$$
\Delta_{\mathcal{A}} u_{f}^{p}(x, y)=p(p-1) u_{f}^{p-2}(x, y)\left|\nabla u_{f}(x, y)\right|^{2}+U(x, y)
$$

where

$$
\begin{equation*}
U(x, y)=\frac{\lambda p}{x^{2}} u_{f}^{p-1}(x, y)\left(u_{f}(x, y)-u_{f}(-x, y)\right)-\frac{\lambda}{x^{2}}\left(u_{f}^{p}(x, y)-u_{f}^{p}(-x, y)\right), \tag{4.1}
\end{equation*}
$$

or, equivalently,

$$
\left|\nabla u_{f}(x, y)\right|^{2}=\frac{1}{p(p-1)} u_{f}^{2-p}(x, y)\left[\Delta_{\lambda} u_{f}^{p}(x, y)-U(x, y)\right]
$$

Observe that

$$
\begin{align*}
g_{\nabla}(f)(x)^{2} & =\frac{1}{p(p-1)} \int_{0}^{\infty} u_{f}^{2-p}(x, y)\left[\Delta_{\lambda} u_{f}^{p}(x, y)-U(x, y)\right] y d y \\
& \leq \frac{1}{p(p-1)}\left(P^{*} f\right)^{2-p}(x) I(x) \tag{4.2}
\end{align*}
$$

where $\left(P^{*} f\right)(x)=\sup _{y>0}\left|u_{f}(x, y)\right|$ is the $\lambda$-Poisson maximal function and

$$
I(x)=\int_{0}^{\infty}\left[\Delta_{\lambda} u_{f}^{p}(x, y)-U(x, y)\right] y d y
$$

The integrand in $I(x)$ is nonnegative, and the integrability of $U(x, y)$ over $\mathbb{R}_{+}^{2}$ with respect to $y|x|^{2 \lambda} d x d y$ follows from Lemma 2.5. Hence

$$
\int_{\mathbb{R}} I(x)|x|^{2 \lambda} d x=\iint_{\mathbb{R}_{+}^{2}} y \Delta_{\lambda} u_{f}^{p}(x, y)|x|^{2 \lambda} d x d y-\int_{0}^{\infty} y \int_{\mathbb{R}} U(x, y)|x|^{2 \lambda} d x d y
$$

Since the second term in (4.1) is odd in $x \in(-\infty, \infty)$,

$$
\begin{aligned}
\int_{\mathbb{R}} U(x, y)|x|^{2 \lambda} d x & =\int_{\mathbb{R}} \frac{\lambda p}{x^{2}} u_{f}^{p-1}(x, y)\left(u_{f}(x, y)-u_{f}(-x, y)\right)|x|^{2 \lambda} d x \\
& =\frac{1}{2} \int_{\mathbb{R}} \frac{\lambda p}{x^{2}}\left(u_{f}^{p-1}(x, y)-u_{f}^{p-1}(-x, y)\right)\left(u_{f}(x, y)-u_{f}(-x, y)\right)|x|^{2 \lambda} d x \\
& \geq 0 .
\end{aligned}
$$

Thus $\int_{\mathbb{R}} I(x)|x|^{2 \lambda} d x \leq \iint_{\mathbb{R}_{+}^{2}} y \Delta_{\lambda} u_{f}^{p}(x, y)|x|^{2 \lambda} d x d y$ and, by Lemma 2.5, $F(x, y):=u_{f}^{p}(x, y)$ satisfies the conditions in Lemma 2.4, so that

$$
\begin{equation*}
\int_{\mathbb{R}} I(x)|x|^{2 \lambda} d x \leq \int_{\mathbb{R}}|f(x)|^{p}|x|^{2 \lambda} d x \tag{4.3}
\end{equation*}
$$

If $p=2$, then, from (4.2) and (4.3), $\left\|g_{\nabla}(f)\right\|_{L_{\lambda}^{2}} \leq 2^{-1 / 2}\|f\|_{L_{\lambda}^{2}}$. If $1<p<2$, applying Hölder's inequality to (4.2) gives

$$
\left\|g_{\nabla}(f)\right\|_{L_{\lambda}^{p}} \leq \frac{1}{p(p-1)}\left\|P^{*} f\right\|_{L_{\lambda}^{p}}^{(2-p) / 2}\|I\|_{L_{\lambda}^{1}}^{1 / 2},
$$

and then, by (4.3) and [3, Theorem 3.8], $\left\|g_{\nabla}(f)\right\|_{L_{\lambda}^{p}} \lesssim\|f\|_{L_{\lambda}^{p}}^{(2-p) / 2}\|f\|_{L_{\lambda}^{p}}^{p / 2}=\|f\|_{L_{\lambda}^{p}}$.
For general $f \in L_{\lambda}^{p}(\mathbb{R}), 1<p \leq 2$, one may decompose $f$ as a sum of its positive and negative parts, and use a density argument.
4.2. Boundedness of $g_{\nabla_{\lambda}}$ on $L_{\lambda}^{p}(\mathbb{R})$ for $2 \leq p<\infty$. Again we first consider the case for nonnegative $f \in \mathscr{D}(\mathbb{R})$. Assume that $p \geq 4$ and let $q$ be the number so that $1 / q+2 / p=1$; thus $1<q \leq 2$. Then

$$
\begin{equation*}
\left\|g_{\nabla_{\lambda}}(f)\right\|_{L_{\lambda}^{p}}^{2}=\sup _{\phi} c_{\lambda} \int_{\mathbb{R}} g_{\nabla_{\lambda}}(f)(x)^{2} \phi(x)|x|^{2 \lambda} d x \tag{4.4}
\end{equation*}
$$

taken over all nonnegative $\phi \in \mathscr{D}(\mathbb{R})$ satisfying $\|\phi\|_{L_{\lambda}^{p}} \leq 1$. If we define

$$
J(f, \phi)=c_{\lambda} \int_{\mathbb{R}} g_{\nabla_{\lambda}}(f)(x)^{2} \phi(x)|x|^{2 \lambda} d x
$$

then

$$
\begin{equation*}
J(f, \phi)=4 c_{\lambda} \int_{0}^{\infty} y \int_{\mathbb{R}}\left|\nabla_{\lambda} u_{f}(x, 2 y)\right|^{2}|x|^{2 \lambda} d x d y \tag{4.5}
\end{equation*}
$$

Since $D_{x} u_{f}$ and $\partial_{y} u_{f}$ are $\lambda$-harmonic, it follows from (2.2) that $\Delta_{\lambda}\left(\left|\nabla_{\lambda} u_{f}(x, y)\right|^{2}\right) \geq 0$, and so, by [3, Theorem 4.7], $\left|\nabla_{\lambda} u_{f}(x, y)\right|^{2}$ is $\lambda$-subharmonic on $\mathbb{R}_{+}^{2}$. Furthermore, from Lemma 2.4, $\sup _{y>0} c_{\lambda} \int_{\mathbb{R}}\left|\nabla_{\lambda} u_{f}(x, y)\right|^{2}|x|^{2 \lambda} d x<\infty$, and then, by [3, (45)],

$$
\left|\nabla_{\lambda} u_{f}(x, 2 y)\right|^{2} \leq c_{\lambda} \int_{\mathbb{R}}\left|\nabla_{\lambda} u_{f}(t, y)\right|^{2} P(x,-t, y)|t|^{2 \lambda} d t \quad \text { for }(x, y) \in \mathbb{R}_{+}^{2}
$$

Thus, from (4.5),

$$
\begin{aligned}
J(f, \phi) & \leq 4 c_{\lambda}^{2} \int_{0}^{\infty} y \int_{\mathbb{R}} \int_{\mathbb{R}}\left|\nabla_{\lambda} u_{f}(t, y)\right|^{2} \phi(x) P(x,-t, y)|t|^{2 \lambda}|x|^{2 \lambda} d x d t d y \\
& =4 c_{\lambda} \int_{0}^{\infty} y \int_{\mathbb{R}}\left|\nabla_{\lambda} u_{f}(t, y)\right|^{2} u_{\phi}(t, y)|t|^{2 \lambda} d t d y
\end{aligned}
$$

and, applying (2.1),

$$
\begin{equation*}
J(f, \phi)^{1 / 2} \leq J_{1}(f, \phi)^{1 / 2}+\lambda J_{2}(f, \phi)^{1 / 2}, \tag{4.6}
\end{equation*}
$$

where

$$
\begin{gathered}
J_{1}(f, \phi)=4 c_{\lambda} \int_{0}^{\infty} y \int_{\mathbb{R}}\left|\nabla u_{f}(x, y)\right|^{2} u_{\phi}(x, y)|x|^{2 \lambda} d x d y, \\
J_{2}(f, \phi)=4 c_{\lambda} \int_{0}^{\infty} y \int_{\mathbb{R}}\left|\frac{u(x, y)-u(-x, y)}{x}\right|^{2} u_{\phi}(x, y)|x|^{2 \lambda} d x d y .
\end{gathered}
$$

For $J_{2}(f, \phi)$, we apply Hölder's inequality and then Theorem 3.1 and [3, Theorem 3.8] to obtain

$$
\begin{equation*}
J_{2}(f, \phi) \leq 4 c_{\lambda} \int_{\mathbb{R}} g_{0}(f)(x)^{2}\left(P^{*} \phi\right)(x)|x|^{2 \lambda} d x \leq 4\left\|g_{0}(f)\right\|_{L_{\lambda}^{p}}^{2}\left\|P^{*} \phi\right\|_{L_{\lambda}^{q}} \lesssim\|f\|_{L_{\lambda}^{p}}^{2} \tag{4.7}
\end{equation*}
$$

The evaluation of $J_{1}(f, \phi)$ is more difficult. First, for $h_{1}, h_{2} \in C^{2}\left(\mathbb{R}_{+}^{2}\right)$, direct calculations show that

$$
\begin{aligned}
& \Delta_{\lambda}\left(h_{1} h_{2}\right)=h_{1} \Delta_{\lambda} h_{2}+h_{2} \Delta_{\lambda} h_{1}+2\left\langle\nabla h_{1}, \nabla h_{2}\right\rangle \\
&+\frac{\lambda}{x^{2}}\left(h_{1}(x, y)-h_{1}(-x, y)\right)\left(h_{2}(x, y)-h_{2}(-x, y)\right)
\end{aligned}
$$

Now we take $h_{1}=u_{f}(x, y)^{2}, h_{2}=u_{\phi}(x, y)$ so that $\Delta_{\lambda} h_{2}=0$, and then, by (2.2),

$$
\begin{equation*}
u_{\phi}(x, y)\left|\nabla u_{f}(x, y)\right|^{2}=\frac{1}{2} \Delta_{\lambda}\left(u_{f}(x, y)^{2} u_{\phi}(x, y)\right)-V(x, y), \tag{4.8}
\end{equation*}
$$

where

$$
\begin{gathered}
V(x, y)=\left\langle\nabla u_{f}(x, y)^{2}, \nabla u_{\phi}(x, y)\right\rangle+\frac{\lambda}{2 x^{2}}\left(u_{f}(x, y)-u_{f}(-x, y)\right)^{2} u_{\phi}(x, y) \\
+\frac{\lambda}{2 x^{2}}\left(u_{f}(x, y)^{2}-u_{f}(-x, y)^{2}\right)\left(u_{\phi}(x, y)-u_{\phi}(-x, y)\right) .
\end{gathered}
$$

We note that

$$
\begin{aligned}
&|V(x, y)| \leq 2\left(P^{*} f\right)(x)\left|\nabla u_{f}(x, y)\right|\left|\nabla u_{\phi}(x, y)\right|+\frac{\lambda}{2}\left(\frac{u(x, y)-u(-x, y)}{x}\right)^{2}\left(P^{*} \phi\right)(x) \\
&+\frac{\lambda}{2}\left[\left(P^{*} f\right)(x)+\left(P^{*} f\right)(-x)\right]\left|\frac{u_{f}(x, y)-u_{f}(-x, y)}{x} \| \frac{u_{\phi}(x, y)-u_{\phi}(-x, y)}{x}\right|,
\end{aligned}
$$

and hence

$$
\begin{aligned}
& 4 c_{\lambda} \int_{0}^{\infty} y \int_{\mathbb{R}}|V(x, y)||x|^{2 \lambda} d x d y \\
& \quad \leq 8 c_{\lambda} \int_{\mathbb{R}}\left(P^{*} f\right)(x) g_{\nabla}(f)(x) g_{\nabla}(\phi)(x)|x|^{2 \lambda} d x+2 \lambda c_{\lambda} \int_{\mathbb{R}} g_{0}(f)(x)^{2}\left(P^{*} \phi\right)(x)|x|^{2 \lambda} d x \\
& \quad+2 \lambda c_{\lambda} \int_{\mathbb{R}}\left[\left(P^{*} f\right)(x)+\left(P^{*} f\right)(-x)\right] g_{0}(f)(x) g_{0}(\phi)(x)|x|^{2 \lambda} d x .
\end{aligned}
$$

Applying Hölder's inequality to each term above and then Theorem 3.1 and [3, Theorem 3.8],

$$
\begin{align*}
& 4 c_{\lambda} \int_{0}^{\infty} y \int_{\mathbb{R}}\left|V(x, y)\left\|\left.x\right|^{2 \lambda} d x d y \leq 8\right\| P^{*} f\left\|_{L_{\lambda}^{p}}\right\| g_{\nabla}(f)\left\|_{L_{\lambda}^{p}}\right\| g_{\nabla}(\phi) \|_{L_{\lambda}^{q}}\right. \\
& \quad+2 \lambda\left\|g_{0}(f)\right\|_{L_{\lambda}^{p}}^{2}\left\|P^{*} \phi\right\|_{L_{\lambda}^{q}}+4 \lambda\left\|P^{*} f\right\|_{L_{\lambda}^{p}}^{p}\left\|g_{0}(f)\right\|_{L_{\lambda}^{p}}^{p}\left\|g_{0}(\phi)\right\|_{L_{\lambda}^{q}} \\
& \quad \lesssim\left\|g_{\nabla}(f)\right\|_{L_{\lambda}^{p}}\|f\|_{L_{\lambda}^{p}}+\|f\|_{L_{\lambda}^{p}}^{2} . \tag{4.9}
\end{align*}
$$

Incorporating (4.8) and (4.9) into the expression of $J_{1}(f, \phi)$,

$$
\begin{equation*}
J_{1}(f, \phi) \leqq\left|J_{3}(f, \phi)\right|+\left[\left\|g_{\nabla}(f)\right\|_{L_{\lambda}^{p}}\|f\|_{L_{\lambda}^{p}}+\|f\|_{L_{\lambda}^{p}}^{2}\right], \tag{4.10}
\end{equation*}
$$

where

$$
J_{3}(f, \phi)=2 c_{\lambda} \int_{0}^{\infty} y \int_{\mathbb{R}} \Delta_{\lambda}\left(u_{f}(x, y)^{2} u_{\phi}(x, y)\right)|x|^{2 \lambda} d x d y
$$

To estimate $J_{3}(f, \phi)$, note that, for $y>0, D_{x}\left(u_{f}(x, y)^{2} u_{\phi}(x, y)\right)=o\left(|x|^{-2 \lambda}\right)$ as $x \rightarrow \infty$ by Lemma 2.5, and then, by Lemma 2.6, $\int_{\mathbb{R}} D_{x}^{2}\left(u_{f}(x, y)^{2} u_{\phi}(x, y)\right)|x|^{2 \lambda} d x=0$. Thus

$$
J_{3}(f, \phi)=\lim _{\epsilon, M} 2 c_{\lambda} \int_{\epsilon}^{M} y \int_{\mathbb{R}} \partial_{y}^{2}\left(u_{f}(x, y)^{2} u_{\phi}(x, y)\right)|x|^{2 \lambda} d x d y
$$

where the limit is taken as $\epsilon \rightarrow 0+, M \rightarrow+\infty$. Changing the order of the integration and integrating by parts with respect to $y$,

$$
\begin{equation*}
J_{3}(f, \phi)=\left.\lim _{\epsilon, M} 2 c_{\lambda} \int_{\mathbb{R}}\left[y \frac{\partial}{\partial y}\left(u_{f}(x, y)^{2} u_{\phi}(x, y)\right)-u_{f}(x, y)^{2} u_{\phi}(x, y)\right]\right|_{\epsilon} ^{M}|x|^{2 \lambda} d x \tag{4.11}
\end{equation*}
$$

From (1.2), $y\left|\partial_{y} P(x,-t, y)\right|$ is dominated by a multiple of $P(x,-t, y)$, so $y\left|\partial_{y} u_{f}(x, y)\right|$ does not exceed $\left(P^{*} f\right)(x)$ up to a multiple, and this is also true for $\phi$. Hence the integrand in (4.11) is dominated by a multiple of $\left(P^{*} f\right)(x)^{2}\left(P^{*} \phi\right)(x)$. Proceeding as in (4.7) or (4.9), $\left|J_{3}(f, \phi)\right| \lesssim\|f\|_{L_{\lambda}^{p}}^{2}$. Substituting this into (4.10) and then substituting the result and (4.7) into (4.6) yields

$$
\begin{equation*}
J(f, \phi) \lesssim\left\|g_{\nabla}(f)\right\|_{L_{\lambda}^{p}}\|f\|_{L_{\lambda}^{p}}+\|f\|_{L_{\lambda}^{p}}^{2} . \tag{4.12}
\end{equation*}
$$

By Lemma 2.1 and Theorem 3.1,

$$
\left\|g_{\nabla}(f)\right\|_{L_{\lambda}^{p}} \leq\left\|g_{\nabla_{\lambda}}(f)\right\|_{L_{\lambda}^{p}}+\lambda\left\|g_{0}(f)\right\|_{L_{\lambda}^{p}} \leqslant\left\|g_{\nabla_{\lambda}}(f)\right\|_{L_{\lambda}^{p}}+\|f\|_{L_{\lambda}^{p}} .
$$

Incorporating this into (4.12) and invoking (4.4),

$$
\left\|g_{\nabla_{\lambda}}(f)\right\|_{L_{\lambda}^{p}}^{2} \lesssim\left[\left\|g_{\nabla_{\lambda}}(f)\right\|_{L_{\lambda}^{p}}\|f\|_{L_{\lambda}^{p}}+\|f\|_{L_{\lambda}^{p}}^{2}\right]
$$

and thus $\left\|g_{\nabla_{\lambda}}(f)\right\|_{L_{\lambda}^{p}} \lesssim\|f\|_{L_{\lambda}^{p}}$.

## References

[1] B. Amri and M. Sifi, 'Riesz transforms for Dunkl transform', Ann. Math. Blaise Pascal 19 (2012), 247-262.
[2] C. F. Dunkl and Y. Xu, Orthogonal Polynomials of Several Variables, 2nd edn, Encyclopedia of Mathematics and its Applications, 155 (Cambridge University Press, Cambridge, 2014).
[3] Zh.-K. Li and J.-Q. Liao, 'Harmonic analysis associated with the one-dimensional Dunkl transform', Constr. Approx. 37 (2013), 233-281.
[4] Zh.-K. Li and J.-Q. Liao, 'A characterization of the Hardy space $H_{\lambda}^{1}(\mathbb{R})$ associated with the Dunkl transform on the line', Math. Methods Appl. Sci., to appear.
[5] M. Rösler, 'Bessel-type signed hypergroups on $\mathbb{R}$ ', in: Probability Measures on Groups and Related Structures XI (eds. H. Heyer and A. Mukherjea) (World Scientific, Singapore, 1995), 292-304.
[6] F. Soltani, 'Littlewood-Paley operators associated with the Dunkl operator on $\mathbb{R}$ ', J. Funct. Anal. 221 (2005), 205-225.
[7] E. M. Stein, 'On the functions of Littlewood-Paley, Lusin, and Marcinkiewicz', Trans. Amer. Math. Soc. 88 (1958), 430-466.
[8] E. M. Stein, Topics in Harmonic Analysis Related to the Littlewood-Paley Theory, Annals of Mathematics Studies, 63 (Princeton University Press, Princeton, NJ, 1970).
[9] E. M. Stein, Singular Integrals and Differentiability Properties of Functions (Princeton University Press, Princeton, NJ, 1970).
$[10]$ E. M. Stein, Harmonic Analysis: Real-Variable Methods, Orthogonality, and Oscillatory Integrals (Princeton University Press, Princeton, NJ, 1993).
[11] A. Zygmund, Trigonometric Series, Vols I and II, 2nd edn (Cambridge University Press, Cambridge, 1959).

JIANQUAN LIAO, Department of Mathematics,
Guangdong University of Education, Guangzhou, 510303, China
e-mail: liaojianquan@gdei.edu.cn
XIAOLIANG ZHANG, Department of Mathematics, Capital Normal University, Beijing 100048, China
e-mail: zhangxlas@163.com
ZHONGKAI LI, Department of Mathematics, Shanghai Normal University, Shanghai 200234, China e-mail: lizk@shnu.edu.cn


[^0]:    The first author was supported by the National Natural Science Foundation of China, Grant nos. 11326090 and 11401113, and the third author was supported by the National Natural Science Foundation of China, Grant no. 11371258.
    (C) 2017 Australian Mathematical Publishing Association Inc. 0004-9727/2017 \$16.00

